Precalc Section 1.4 Day 1.notebook September 23, 2016

Section 1-4: Day 1

Building Functions from Functions

« Students will be able to combine functions algebraically

« Students will be able to find and use composites of
functions

« Students will be able to use relations and implicitly
defined functions

Combining Functions

C o . .
o functons with intersecting domains. Then for

all values of x 1n the intersection, the algebraic combinations of

f and g are defined by the following rules:
Sum: (f + gXx)= f(x)+ g(x)
Daifference: (f — g)x) = f(x)—g(x)

Product: (fg)(x) = f(x)g(x)

Quotient: {i] (x)= RAC)) , provided g(x)# 0
g g(x)
In each case, the domain of the new function consists of all

numbers that belong to both the domain of / and the domain of g.
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Defining New Functions Algebraically

Let f(x) = x2 and g(x) = Vx + 1 U /"7 @pt)

- Di(-wim) D Z i———-—B& "
Find formulas for the nctl ns below and give the domain of
each.
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f(x) Fx+5  and g(xps

D Cgl”\ D (09169)
Find formulas for f + g, f - g and fg. Give the domain of
each.

£rg = Yaos +|x+3] D [Cg, )
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Composition of Functions
sSin ><l
foz Siny X

2 f

x must be in the and g(x) must be in the (; 0_2}_)( = g (ﬂ\)

domain of g domain of f . +
rghb ol ngile 0

Composition of Functions

L) g(£C-2))

L5000 9 (§60) =
Find (/ @ and (£°/)(2) =5 | 1) =138 =9

X ‘7\ -.q-a
9= =X $o)y= 5570 | $en =50 9@:%!
_ 0 _ -
g(‘}) = ﬂ ~% - -(H-—l 5 =
- Q'q 0 -
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Composing Functions

Let f(x) =@%rand g(x) = Find (f.g)(x) and (g -f)(x) and verify
numerically lting functions are not the same.

X r_g‘o \XT
GIDQ‘ZS " © led y=1 ( 799
(goS)n = Ve (9 05)x

——

Q{T:e- Q#{é \(V\uh

(R N
e -ﬁ % 0‘ bod\
Finding the ain of a Composition
Let f(x) €x2 - and let g(x) = Vx. Find the domains of the
compos&jggtuggtions... Co. )
gof g(§e0) = o x*-1 fog
(400)= Tx ~I
)(2_’:0 gjs‘ (T-)l-
S\IX
X =1 B
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HW 3 -15 Dby 3's, 16-20 all
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